Please review my solution to the problem and explain in detail what I may be doing wrong and what concepts I may not be applying correctly.

The problem states:

Two semicircular arcs have radii R2 = 7.80 cm and R1 = 3.15 cm, carry current i = 0.281 A, and share the same center of curvature C.  What are the (a) magnitude and (b) direction (into or out of the page) of the net magnetic field?


We know:
R1 = 3.15 cm = 3.15 x 10-2 m

R2 = 7.80 cm = 7.80 x 10-2 m
i = 0.281 A

The F of R1 is out of the page and the F or R2 is into the page.

Solution:

B1 = μ0i / 2πr

B1 = (1.26 x 10-6 Tm/A)( 0.281 A) / (2)(3.1416)(3.15 x 10-2 m)
B1 = 1.789 x 10-6 N out of the page
B2 = μ0i / 2πr

B2 = (1.26 x 10-6 Tm/A)( 0.281 A) / (2)(3.1416)(7.80 x 10-2 m)

B2 = 7.224 x 10-7 N into the page
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